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Math 205 { Fall 2008
Test #3a-- Ch. 2&3
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Instructions: Puf you name at the top of the page in the blank provided. Show all of
your work clearly. You may use the back of the page to show extra work, us long as you
label it clearly. Show all work at all times. Word problems need to show sefup, equations
using algebra and be solved using algebra (don’t forget units). You may not use a
calculator. Good luck!

1. or the equation: -3 + 3y = 4x {(A
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d) State the slope. w X< "% B
Al ) Indicate how you arnved at thls answer here. '
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‘E\? \ Graph the line on the coordinate system below. Don’t forget to label your

3 points, put arrows on the line and labgl! the line. /%/ r/ / )
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W Give the equation6f any horizontal line. M" 4 S _frakches
Give an ordered/pair on the horizontal line you Just(éave ()L: ;-ﬂ-\

Give the slope’f your horizontal line.  Ze7Q e
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3. Give the equation of the line passing through the points (4,-1) and (-2, 9). Be sure
to show your work for finding the slope and then plugging into the pomt-slope form,

betore you give the final equation in slope-intercept form. r&
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T -2~ "l’ -l T3 '} - 5
(0= % S (x-4) \ ‘é S+ j“
4. Lines which are perpendicular have (Y‘-QC\ e ‘ slope(s).
- (Fill in the blank with the most ap ropriate of the following §.) -
Jr a) different b) negative Tﬂ c) the same
5. Write the equations of any two lines which are parallel to one another. Write
them in slope-intercept form._A line i arallel to itself.
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6. Solve the linear inequalities in | variable and graph them on a number line. Give each

solution set n interval notation. —_— o
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7 Circle the graph that would best represent the aph of tl%: line: y= X - 9 3
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J(‘ \ 8. Give the equation of a line with undefined slope? K= b
9. Solve the following proportion. Use algebra. A7
Yi(x +9) = 2
/z(les ) x ,g By = 3._~LX+QX .
%23 2 . ﬂ‘{&) Al = 35
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Maria participated in a biathlon. Her a{gefg% g’ucﬁglf'ljé%peed was 7 mph and her
average biking speed was 18 mph. If the total race length was 28 miles, and her
biking time exceeded her running time by 10 minutes. What were her running

and biking times? You must show setup, an equation that can be used to solve the
problem and then solve the problem. _ % .
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If the width of my family room is decreased by one and then doubled, it is the
same as the length. If the perimeter of my family room is 62 feet, find the length
and the width. This must use algebra, show setup, an equation and give units to

receive full credit. o
22x \) ¥ =02

\engihs 2{x-1)
P-2012w= 02| wdktn=x Hx ~4 +2x= 62

| | x —H1 =b2
N'\c:\.*h= nW& ox =066
=1

\enSH\ =20,

Choose one of the following problems to work. Show setup, and equation that

can be used to solve it but do not solve.

a) Kevin invested part of his $10,000 bonus in a CD that paid 6% annual simple
interest, and the remainder in a mutual fund that paid 11% annual simple
interest. If his total interest for that year was $900, how much did Kevin invest
in each fund?

b) How much of 50% acid should be mixed with 4.5 gallons of a pure acid
solution in order to get an 80% acid solution? (Pure acid is 100% solution.)

¢) The Campus Coffee House wishes to make a Cajun Craziness coffee mixture
from 2 of their most popular coffees, Creole Cahoots and Bayou Shenanigans.
The Creole Cahoots sells for $7 a pound and they wish figure out how much of
it to add to 14 pounds of the Bayou Shenanigans which sells for $4 a pound to

@ \ P WR . rr:llrs:lke the Cajun Craziness mixture that will sell for $5é pound. \/ ‘ ‘3/ \To{—a\i
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show your_work for your three ‘point‘s to graph the line, and for the check points.
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12. Solve the following system using the method of yi)}r choice. Give the solution as I
an ordered pair. &
fx —y=4 Z M = -
3Xx+2y =35 8
- , s - 2, =5
2% -_;%;«:‘f 3(8 =) + Y
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